Piston Type Pressure Switch Type HED 4 ,Series 40

RE30180/12.2004

® Dexter

up to 35 MPa

Replaces:
RE30180/05.2001

Features:
- For subplate mounting
- For pipe installation
- 3 pressure stages

- Plug-in connector with circuit (indicator lamp)

(separate order)

Features

Vertical stacking systems
Type HED4OH15B/---

Subplate mounting
Type HED4OP15B/--- =

Pipe installation
Type HED4OA15B/--

H | _ E ] . _|__IH
|:L—. | | o L ' I_J:1
g ey < H = h i
i Y | —
l_{—:’ | ) | .I'I 3 1 _ _ | —I
i / | = [
maxl 33
max123
o o] MI43L S . paxlll L)
I_; - 'qf)" e +—_l
E-:l Ll i F |C :

Il
E
F

16

!

screw is loosened before adiustzing pressure /

screw is screwed down after adjusting pressure

oy

NE




Ordering details

HED40

15

Vertical stacking systems
Subplate mounting

Pipe installation

Series 15(10 to 19: unchanged installation and connection dimensions)

=15

Max. settable pressure 5 MP,

a

Max. settable pressure 10 MPa

Max. settable pressure 35 MPa

=100
= 350

connected by small plug

=714

Lamp for 24 V (25 V to 35 V)

Lamp for 110V (90 V to 130 V)
Lamp for 220 V (180 V to 240 V)

L24
L110
L220

with protective cap

Mineral oil

Phospate ester (other seals on request)

= No code

*Sould be orderd separately for horizontal stacking

Further details in
clear text

Technical data (for applications outside these parameters, please consult us!)

Pressure setting range (MPa)

Pressure stage

Max. operating pressure

Recover pressure

Action pressure

min. max. min. max.
5 10 0.2 4.6 04 5
10 35 0.3 8.9 0.8 10
35 35 0.6 32.2 2 35

Viscosity range10 to 800mm? /s

Switching accuracy (repeatability) < + 1% of set pressure

Switching frequency 1

20/min

Max. connection cross sectional area 1.5mm?
Contact loading - AC250V;5A

-DC5S

Weight - Hydro-electric pressure switches 0.6Kg

0V,1A or 250V,0.2A

- Sandwich plate for vertical stacking assemblies

0.8kg (Size

6) 1.9kg (Size 10)




Switching pressure difference - pressure switches with or without drain port

%
HEDAG. 15B/50.. _ HED40..15B/100.. £
% 1.5
i
1 E = e =
g8 1.0 c &5 1.0 =
i T 5
205 © £ 2 05 o
TRES : 13
0 0 o z5 -
58 e £
[ 0 1 2 3 4 5 ¢ 0 2 4 6 8 10 £
£
Lower switching pressure in MPa — Lower switching pressure in MPa —
3
HED40..15B/350.. £
3.0 &
€ 20 g
8= | b
2 8 c
58 10 E
s 8
0 o
0 5 10 15 20 25 30 35
Lower switching pressure in MPa —
Installation guidelines: for applying the pressure switch HED 4...in stacking assemblies size 6 (Dimensions in mm)
" b4 " 29
T ks SP ) P
L 7‘ \\ I‘\J
o Rz g 210
- —| A, TR B e wa | M o (- T
- | = WL WL ] 5 B = pE—a
I r,}f:'\\ [ = i
} RN N = Pat VN
Ej *"' * Y
Vi ~A5
» 14.5 -
o 41
| T
1.8
40,5
Installation guidelines: for applying the pressure switch HED 4...in stacking assemblies size 10 (Dimensions in mm)
- 91
-
P P
| - 1 :Cj\. oo Fas!
T —
| =5 Ay | AsB = = @
= [ Wit Ly T — =1
Tas, AR 1
L ‘ij o D
[ H ";t %
Sy %
3.2 a
- 2 W
16. 7 41
.. N B
3.3
Required surface finish 50. 8
of mlating piece - 54




Subplates

G341/01 (G1/4” ) G341/02 (M14x1.5) Weight = 0.6kg

(Dimensions in mm)

95 i
Ll 5 s T W % Front panel cut-out
: g //
i/‘”:)“\“ /[ @@ﬁ
2| =| @O T [Q=rds o s (@) %@ =
1)t g PR AEE \\ ’/‘Kﬁiﬁl\\‘ :
o NA AANF (N
s /10 e\ s/ N\awyn
= : Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
s M, =9 Nm
G342/01 (G3/8” ) G342/02 (M18x1.5) Weight =1.1kg (Dimensions in mm)
10 &
= Front panel cut-out i
% il
k]|
| .} \ T/ \
s o
B
L A TAS BT NN M T /7 _
7| WL T D etrar IR Al
. £ l"'\’& &y AN B3 (/"\‘
7\ A - an
\ /2 News N
K11/ g ks o1/l O\ e
m]g Valve fixing screws, M5 x 50 -10.9 (GB/T70.1-2000),
s M, =9 Nm

G502/01 (G1/2” )

G502/02 (M22x1.5) Weight =1.9kg

(Dimensions in mm)

125

i

Bl 5

Front panel cut-out

O
/

A

)
2/

/A
2

o

(N
N\

5B

7N
D)

11
%
- - é_ T C:} ’}

. el | A Tail T @;}% o o
al &ﬂ\\ NN JHEEF
ﬂ/ L }'} 1""-)\ . i =

i N\ |/= \7
L \ / =| “eusn
W5 /10 i3 .
. " \LP_._&m

Valve fixing screws, M5 x 50 -10.9 ({GB/T70.1-2000),

M, =9 Nm

_4_




Subplates

G44/01(G1/4) G44/02(M14 x 1.5) G45/01(G1/2) G45/02(M22 X 1.5)

(Dimensions in mm)

] 5 75
15 | -T2 _ = =
e | | e st 3
| n, ! W I =1 = |
O | oK (& A
TN wags 4 (:%:\} 2 % ] w , ff(f’:?\ i
— 1 X deoe g 7 i “l el ‘\‘\\\?//(f—\' T
O A - = { — " %r»—f*“\—,’ A\
IRV AP by i " WS W)
Dle” | Cep 1| &0 L or
T T T
Size Type Weight D1 D2 T1 T2 Valve fixing screws Tightening torque
G44/01 G1/4 o5 12 17
G44/02 M14 x 1.5 4-M5 x 50-10.9
NG25 — GB/T70.1-2000 B
G45/01 G1/2 34 14 20 ( 70.1- )
G45/02 M22 x 1.5

G279/01(G1/2) G279/02(M22 x 1.5) G280/01 (G3/4) G280/02(M27 x 2)

(Dimensions in mm)

i 1145 48 1 o -
l $ ?.5 ¢ 15 depth i ; —~ 1.8
R s =l M i : ¢ $
£ A S - $ $ .
k P = s_}_'i ! ;/ Fan
3412 * °f | YW l/
o L f F 3118 _,
| o | - A —
§'§S'(_ _;*’;(‘B :._-E: = LJ‘J&—: L/ #ﬁ% .-I )
KD! kr | ;l @. — \ (I)‘ - k\%i{y ,r"‘ peet
@l bl 3 b b P
NV | b (Hrﬁ - ‘{r’ q'!’ Cl’ T
5 (3,. : o : T
55 1 | oty P
1325 -~ L3 | '\Ej'
Size Type Weight D1 D2 T1 T2 Valve fixing screws Tightening torque
G279/01 G1/2 34 15 17
G279/02 M22 x 1.5 4-M8 x 50-10.9
NGO G280/01 =y G3/4" (GB/T70.1-2000)
42 17 20 )
G280/02 M27 x 1.5

G281/01(G1/2) G281/02(M23 x 2) G282/01(G1/4) G282/02(M42 X 1.5)

(Dimensions in mm)

| 14 ! 1 T,
| 101.5 | 418 deth 1 1
Ore e
AV - _
o oo [ M
= = o il e i
oy B ¥
- 5 @
il b L 820 INEAE -
e, J__j A==
2.5 N 2
T ® "| G
188 10 =)
Size Type Weight D1 D2 T1 Valve fixing screws Tightening torque
G281/01 G1 47 19
G281/02 akg M33 x 2 4-M10 % 80 -10.9
NC18
G282/01 G11/4" 56 21 (GB/T70.1-2000)
(G282/02 M42 x 1.5

1. mating piece of valve 2, underside 3, Valve fixing screws 4. ¢ 20 for size 10 ¢ 30 for size 16 keep free from drillings used for orifice support 5. Valve panel cut-out

_5_




Scaleboard

101 ; 75
ST (S 30 —f— §2/0.5
— 35 8.9 — 9 N

G125 -
L =" ﬂ\@ S
THS 1 & Bro)e

i " " 1—2AD 813
L B #%

b
5

Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight

G460/01 8 G3/8 13

(G460/02 M18 x 1.5 4-M10 x 40-10.9
G461/01 G1/2" {GB/T70.1-2000)
34 16
G461/02 M22 x 1.5

1 -t 926/0.5—
By | Y6 {0 TN
|02 GA/12.5 —_]

- i
‘o Y, 9N
i 0B 62
5 L1
g T [ KT 6

s it @

ya—a
7 a B T~ 41 L
JH ®
(D . FHui M2
9 445
F=—t. §
Size Type D1 D2 T Valve fixing screws Tightening torque for screws Weight
G412/01
NG25 G412/02 4-M10 x 50-10.9 69Nm 3.3kg
G413/01 (GB/T70.1-2000)
G413/02
-5192--
E 5 1 ! .-3_\
_—L1 @6 X 825/0.5 —~ 120
GLAT2E — b T
_— LB 332 ak-Z1 P
3 B AN /A )
=R o ! i ! / =l ]
l 816 s 9 LSS x\%{/,.lt
L I 4 'q/-\‘l r/' I
¥ P 1 B/ '."j‘il RO, ilr'r'( !
, - #01/0.5—_~d >/— +-F-)¢ Al
. T ] =
1 QD/ —— {24 B
\ N10 25 ;%E
-—— = ]
—— 4, ]
Size Type D1 D2 T1 Valve fixing screws Tightening torque for screws Weight
G414/01 56 G1 1/ 20.5
NC32 G414/02 M42 x 2 6-M10 x 60-10.9 69Nm S
G415/01 G11/2" (GB/T70.1-2000)
61 225
G415/02 M48 x 2

1 mating piece of valve 2 Valve fixing screws 3 locating pin 4 Front panel cut-out

_6_




& B N

Notice

. The fluid must be filtered. Minimum filter fineness is 20 pm.

The tank must be sealing up and an air filter must be installed on air entrance.

Products without subplate when leaving factory, if need them, please ordering specially.
Valve fixing screws must be high intensity level (class 10.9). Please select and use them
according to the parameter listed in the sample book.

Roughness of surface linked with the valve is required to P—S/
W

. Surface finish of mating piece is required to 0.01/100mm.




